Calcular las derivadas de las siguientes funciones

1) f(x)=\/;+cosx

2) g(x) = x*senx

3) h(x) = senx - cos x

1

2x

—Senx

f'(x)=

g'(x) = 2xsenx + x* cos x

h'(x) = cos® x —sen’x

4) i(x) = x’ cosx i'(x) = 3x* cos x — x> senx
5) Jj(x)=7"-x* J'(xX)=x>-7"-In7+7"-2x
6) k(x)=e"-3x k'(x) =3xe* (x +2)

7) I(x) = X + senx I'(x) = I+ (1+x)cosx+(x—1)senx

X+ cosx (x+cos x)’

8) m(x) = (x* +3x)* m'(x) = 2(x* +3x)(3x> +3)

9) n(x)=( ! j n'(x)=_—4x

x*+1 (x*+1)°
10) o(x) = sen(x* + 4x) 0'(x) = (2x +4) cos(x’ + 4x)

11) p(x)=sen’x-cos’ x p'(x) = 2senx-cos’ x—2cosx-sen’x

12) g(x)=e> q'(x) =5

2
13) r(x)=1In(7x%) r'(x) = ~
14) s(x) =+/senx s'(x) = cosx

2/ senx



15) #(x) =In(Wx> +3) £(x)=—>

x*+3
16) u(x)=5>"* u'(x)=2In5-5>"
17) v(x) =cos(7" +4x) VI(X)=—(7"-In7+4)-sen(7" +4x)
18) w(x)zi/x_4 w'(x) = S:/f;
19) x(x)=x\/; x'(x)=%
20) y(x)=— ()= —
) ¥(x) = Y=o
x*+1 Vs x*—2x—1
21) z(x) = - z'(x) = (x—1)°
x* =3 NN V2
22) 600 =153 Ty
7 v 1
23) b(x)=——~ b'(x) = +5)
- X v 2
24) c(x) —m c'(x) = (x+2)°





